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4
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for working and writing the answer. Total

e Itis necessary to write relevant steps and
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e Marks will be awarded follows :
02 marks each for questions 1 — 25 in part A
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Part A
Answer all the questions on this paper itself.

. 4 men can complete a certain work within 5 days. How many days will it take for 10 men to
complete a work which is twice the magnitude of the above mentioned work?

Find the factors. X — x — 6

. According to the information given in the figure, find the value of x.

. The perimeter of the given sector is 39cm and the radius of it is 14cm.
Find the arc length of it.

. Simplify. %—

4x

. According to the information given in the figure find the magnitude of BAD.'
A
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7. Underline the value of V42 for the first approximation.

() 6.3 (i) 6.4 (iii) 6.5 (iv) 6.6

8. Find the capacity of the given cuboid shaped tank in liters. ( 1m® = 1000l )

Im

Im

9. According to the information given in the figure, find the value of x

10. Solve. g— 1=5

11. % of a tank was filled with water. If ; of it was used, what fraction of the whole guantity of
water is used?

12. If the following statements are true put v and if the statements are false put x.

Sum of the interior angles of a triangle is 180°.

In a triangle, when two sides are equal, the angles opposite to the equal sides are equal.

A pair of right angular triangles can be congruent only under the case R. H. S

13. Find the probability of getting a card with an odd number, from a pack of five identical cards

written 1 to 5 on them.
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14. According to the information given in the figure, find the length of AC. A

3cm

B 4cm C

15. Find the 10™ term of the number pattern T,=3n+2.

16. Figure shows a semi circle with the diameter 14cm.

Find the area of it. ( & :? ).

17. Write the other pair of elements that should be equal to become the triangles ABC and PQR,

under S.A.S case. A P Q

18. According to the information in the Venn diagram

write the set A’ by listing its elements.

8

19. A vehicle travels at a speed of 60 kilometers per hour. How many hours will it take to travel
180km?

20. Write the gradient of the straight line which passes through the points (0,6) and (1,4).
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21. Find the least common multiple of the given algebraic terms.

4a%b |, 6 ab?

22. According to the information given in the figure,

A
find the BC length. God
cm
40°
B C

23. Write the smallest positive integer which satisfy the inequality x — 3 > 2.

24. Find the median of the given distribution.
2,4,6,8,9,11, 15,17, 20, 21, 25

25. Using the knowledge of loci, mark the point X on AB, which is equidistant to OA and OB.

A
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PART B
Answer all the questions on this paper itself.

01. A tailor used % of a fabric roll to sew table cloths and z of the remaining were used to sew
pillow covers.

I.  What fraction of the whole fabric roll were remained after sewing the table clothes?

ii.  What fraction of the whole fabric roll were used for pillow covers?

iii.  After sewing the table clothes and the pillow covers, the length of the remaining fabric is
9m. Find the total length of the whole fabric roll.

iv.  If 3m of cloth is needed to sew a table cloth and ¥2m of cloth is needed to sew a pillow
cover, find the number of table cloths and the number of pillow covers made using the
above mentioned fabric roll.

02. Given combined figure is made using a rectangular 5 D
shaped portion and a sector.
i.  Find the area of the BDC sector.
14 cm
[ ]
A B 14cm C

ii.  If the area of ABDE portion is twice the area of the BCD sector, find the AB length.
iii.  Find the DC arc length.
iv.  Find the perimeter of the whole figure.

v.  Aright angle triangular portion which is equal to the area of the sector, is needed to fix
along the produced BA and taking AE as a side. Find the lengths of the two sides of the
triangle, in which the right angle is included and sketch it in the above given figure.
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03. Food sufficient for 20 hens for 30 days are stored in a farm.

7

For how many days does this food be sufficient for one hen?

After 18 days another 10 hens were taken to the farm. Now for how many days does
this food be sufficient for all the hens in the farm?

After taking 10 hens to the farm, 4 days later 6 hens has passed away. Now for how
many days does this food be sufficient for the hens in the farm?

Finally for how many days does the food stored in the farm be sufficient?

04. The given pie chart represents the information gathered from
an agricultural organization, regarding 300 farmers.
I.

How many farmers grow rubber? Rubber

If the number of farmers who grow coconut is four
times the number of farmers who grow cinnamon, how
many farmers grow coconut?

Coconut

What is the angle of the sector which represents the farmers who grow tea?

If % of the farmers who grow rubber decided to remove rubber and cultivate cinnamon,
what is the angle of the sector which represents the farmers who grow cinnamon now?
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05.1f ¢e={1,23,4,5,6,7,809 10}
A={2467}
B={1,4,70910}

write the following sets by listing its elements
i. ANB

i AUB
ii. A
v B/

V. Represent the above information in a Venn diagram.
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< Answer 10 questions selecting 05 questions from part A and 05 questions from part B.

< Each question carries 10 marks. This question paper carries 100 marks.

Part A

Answer 05 questions only.

01. (a) A person who produce shoes spends Rs. 900 to manufacture a pair of shoes. He sells the
pair of shoes by keeping a profit of 20% to a vendor.
i.  How much the vendor has to pay for the pair of shoes?
ii.  The vendor sells the pair of shoes to a customer at a profit of 25%. How much the customer
has to pay for the pair of shoes?

iii.  Write with reasons whether the manufacturer or the vendor earns a greater profit.

(b) The marked price of a refrigerator is Rs. 60 000. A discount of 12% is given when selling it.
i.  Calculate the discount given for the refrigerator.

ii.  Find the selling price of it.

02. An incomplete table of values prepared to draw the graph of the function y = 3x — 2 is given

below.
X -2 -1 0 1 2
y -8 | —2 | 4

I.  Fill'in the blanks of the table.
ii.  Draw the graph of the above function.
iii.  Find the value of x, wheny =7.
iv.  Draw the graph of the function y = 3x + 1 in the same Cartesian plane.
v.  What can you say about the two graphs? Explain.
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03. (a) i. Simplify. (2a+b)(a-b)
ii. Find the factors. 2a”—8
iii. Find the least common multiple of the following algebraic expressions.
3(x-y), (X -y

(b) 1. If the length of a side of a square shaped ground is (x + 5), find the area of it in
terms of x.

ii. If x=25, find the area of the ground.

04. (a) Capacity of a large bottle of fruit juice is 2.51. This fruit juice is used to serve 325 people
who were participated for a party. If 250ml of fruit juice was served for a person, find the
minimum number of large bottles of fruit juice used for this purpose.

(b) The area of the base of a square shaped container is 360cm?. If the container is filled with
7.2l of water, find the height of the water level.

05. (@) Solve the following simple equations.

a+2
3

3x—1=9-2x

= 4

(b)  Price of two mangoes and an orange is Rs. 100. The price a mango and an orange is
Rs. 70. By taking the price of a mango as x and the price of an orange as y, write down a pair of
simultaneous equations and find the price of a mango and the price of an orange separately by

solving it.

06. An incomplete table of values containing the information on the number of bananas in 100
bunches of banana is given below.

Number of bananas | Number of bunches Mid value fx
in a bunch of banana (1) (x)

50 - 60 20

6070 25

70-80 30

80-90 15

90 - 100 10

I What is the modal class of the distribution?
ii. Complete the table and find the mean number of bananas in a bunch of bananas.
iii. If a banana is sold for Rs. 8, show that the total income gained by selling the 100

bunches of bananas does not exceed Rs. 58 000.
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Part B
Answer 05 questions only.

07. The figure shows a circular decoration made with bulbs.

Starting from the smallest ring, write the number of bulbs in
each ring in ascending order.

Write an expression for the number of bulbs in the n ring in
terms of n.

Hence find the number of bulbs in 15" ring.

In this decoration, which ring contains 62 bulbs.

Show that the number of bulbs in the (n—1) ring is 2n.

08. For the following constructions, use only the straight edge with the scale cm/mm and the pair

of compass only. Show the construction lines clearly.

iv.

Construct the PQR triangle where PQ = 7cm, QPR = 60° and PR = 6.5cm.
Measure and write the length of QR.

Construct the perpendicular bisector of PQ.

Construct the angle bisector of QPR and name the intersection point of it and the
perpendicular bisector as O.

Construct a circle with the centre O and the radius OP.

09. In a box there are 8 identical chits of papers rolled and numbered from 1 to 8. A chit of paper is

taken out from the box randomly.

iv.

Write the sample space including all the possible outcomes of the event.

Find the probability of the number taken out being an odd number.

Find the probability of the number taken out not being a prime number.

Find the probability of the number taken out being either an even number or a square
number.

If the number taken out for the first time is not an odd number, another number is taken
out from the box without replacing the previous one. Find the probability of the number

taken out for the second time being an even number.
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10. (a) Name the instrument which is used to measure bearing and draw a sketch of it.

(b) A point A is situated at one side of a horizontal straight road.
When observing from A, the bearing of a tree ‘P’ which is at the
other side of the road, is 030°. When observing from point B, which
is situated 10m away from A, the bearing of the tree P is 060°. The
figure shows a sketch of it.

Using the scale 1cm ->2m draw a scale diagram to represent the
above information. Find bearing of A, from P and find the distance
from P to Q.

11. In the given figure AB = AC. AC is parallel to PR and
AB is parallel to QR.
i.  Prove that the PQR is an isosceles triangle.

ii. IfPB=QC, show that A ABC and A PQR are P
congruent and when PQ = 7cm and PR = 5¢cm,

calculate the perimeter of the A ABC

12. Figure shows a circle with the centre O. OAC = x.

Qp------------- ~Pp
B
A?

A

0 C

(a) Giving reasons find the magnitudes of the following g
angles in terms of x. ”
. ACO
ii. BOC
iii. OBC
(b) What is the magnitude of ACB in degrees?
(c) If AC =12cm and BC = 9cm, what is the length of c

AB?
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